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Do not open this booklet until asked to do so...

RATIONALIST TALENT
SEARCH EXAM 2014
(RTSE)

STD : 11

Date of Examination : 30 March 2014 R 11 N
Time : 2.00 pm to 4.30 pm 0 0.

Guidelines for the candidate

1. ufeT & givargal fammeatr Syul mifedt sRuaraat 30 ffe 31k e Juam aget.
You will get additional thirty minutes to fill up information about yourself on the Answer Sheet, before the
start of the exam.

2. e RAYETHAE THOT 150 TR 3T Tieh TR 2 0T YR

This question booklet contains 150 questions each question carries 2 marks.

3. T Y WISTaut Savash 3T%. o= STRIEE Ml UM F3cdTal FehRe! U SISl shet SR Tét.

All questions are compulsory. There is no negative marking.
4. 3MIEATE ST YRR [HeTeaTe W e HATal.

Check to make sure that you have received the appropriate test booklet for your standard.
5. ITRYRERaR STIet AT, GRET S, T2 ST a7 Fg Tehi Tofg = TRt TaeiRt share.

Write your name, roll number, group and class clearly on the Answer Sheet and do not forgot to sign it.
6. AL Hos THd IR SR M. SR SIS Uehel T IS

There is only one correct answer. Choose only one option for an answer.
7. ITE WA SAUATIE! s el e T Sierde aTeRTaT.

To mark your choice of answers by darkening the circles in the Answer Sheet, use a blue/black ball point

pen only. Eg.

Q. x :- Fill in the blanks.

My father went to buy some milk.

A. There B. their C. They're D. here

As the correct answer is option A, you must darken the circle corresponding  Q.X . @ @
to option A in the Answer Sheet

8.  Tiel HuoaTaR THE STRUTh THaeTehiehs TR .

Return the Answer Sheet to the invigilator at the end of the exam.

9. ST TRET SHHi THTYRTRER GaT foTaTa o Ha¥ FReqen! TetT ShicerHaY STaedT |ie =l

Write your Roll No. on the Question Paper too and take it home for future reference.




QeI AT T el RIS} STTeT.

a) AR b) HmER ¢) THER d) 3=

GTeitoT YIeEiUehl TelATH 3TieaEl.

a) TR b) a1y c) d) =

QAT AT TSRIT STeAE e Ui ShHih e

[a . 0 .0 [a)
el AHIsRI hetdid eldl.

a) AT b) FeramER c) GeRt d) =it

"AATAT TN ST Tl AT ATRITAA HATI ST

a) qeet b) Tuet=n C) 3R d) eram=n

GTeAToT STSSTAT TaGg oTT Il 9T T

IRESED
a) Tt b) vTesT c) Toretsh d) ferterent
b)

QAT TTeTalel Uesharel 9Teg I

a) T b) 3fmar C) TR d) Terezuit

QAT cTehTeA! ST U1 STAT.
a) 31TE TSR T, b) 312 TSR .
C) 31T FSTRIA SR 3TTE. d) 37 IR SR

'HTETR GU HIHS Blcil. AT AT [oRTHE STNSEA T Ui SHHih I

a) yeArae b) yuiferm™ ¢) STRTE= d) arereror faee
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10.

11.

12.

13.

14.

15.

16.

QAT STRIERIET 371 3ies g AT UdTd ShHieh 3T,
HITHAL HI! -
a) U Td 0 b) vTTeTgER! 30T C) U F 0T d) s ot

QTATCTIR! ST HigT ShioTar?

a) STHart b) di C) = d) sreror
Which of the following is English month?

a) January b) Paush c) Magh d) Shravan

Choose the odd set of letters from the options.

a) T-T b) Z-Z ¢)d-D d) W-W

Which of the following options letters are arranged alphabetically?
a) NMOP b) UWVT c) DABC d) EFGH

Fruit seller sales what?

a) bread b) grains c) fruits d) books

Choose the rhyming word for 'name' .

a) not b) man C) game d) then

If the words in the option arranged alphabetically which will be the last word?

a) ox b) zebra c) car d) bat

Which day falls between Thursday and Saturday?
a) Sunday b) Friday c¢) Tuesday d) Monday
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17.

18.

19.

20.

21.

22.

How many days are there in the month 'May'?

a) 31 b) 30 c) 28 d) 29

Which of the following is a verb?
a) white b) ball c) cup d) sing

Choose the appropriate letter at the place of *.

o | T

a)u b) m c)b d)p
59 &t T SRR el feAtednd?
a) e b) TR C) deareg d) ThIvTER

How will you write 59 in words?

a) Fifty Eight b) Fifty Nine c) Ninety Five d) Sixty Nine

1 vrefes = Tehclt S9TR?
a) 1 b) 100 c) 10 d) 1000
1 Century = How many Decades?

a) 1 b) 100 ¢) 10 d) 1000

QAT qATATe T o e foRaie Higutt At et STrel S
a)37=30+7 b) 54 =50 +4 c)70=70+7 d)85=80+5
Find out the incorrect pair from the figure and their bifurgation of the following.

a)37=30+7 b) 54 =750 +4 ¢) 70 =70 + 7 d)85=80+5
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23.

24.

25.

26.

217.

epTeT =iieRela A famaTa 9aTe shHich M.

9-9[ ]7-7
a) < b) > c) = d) A

Choose the correct alternative to fill in the box.

9-9[ ]7-7

a) < b) > c)= d) A

17, 25, 12 31 G=aman gedl shH ShioTdT 3T ?

a) 25, 17, 12 b) 12, 25, 17 ¢) 17, 12, 25 d) 12,17, 25

Arrange the given numbers in their ascending order.

17,25, 12

a) 25, 17, 12 b) 12, 25, 17 ¢) 17, 12, 25 d) 12, 17, 25

GTeAToTUShl SHITTAT {ore T 3T

)9 +5 b)7-5 ¢)7x3 d)8+6

Which of the following will be the odd number?

)9 +5 b)7-5 ¢)7x 3 d)8+6

4g50+43T+50="Ffrd?

a) 45 3Th b) 8 geTeh ¢) 9 3Th d) 9 T

4 tens 5 units + 4 tens + 5 units = How much?

a) 45 tens b) 8 tens c) 9 tens d) 9 units
6 x 4 = 24 J7 TUIMHRT -------- T[UTR o ---------- TR 3

a) 4,24 b) 6, 24 c)24,4 d) 6,4

In the multiplication 6 x 4 = 24, _ is multiplier and
multiplication.

a) 4,24 b) 6, 24 c)24,4 d) 6,4

1S




28.

29.

30.

31.

QA AT Tehrd e ST

a) SHITCIE! T o I e oMK I Il

b) VTR W& & Uk A= TOMRR e ST I

¢) TU  T[UTeh el STEEATIRSA hedTd UMK T Jel.

d) S GHEAT UM I HHAT 0Teh FUTdTe.

Find out the incorrect sentence from the following options.

a) The multiplication of any number and 0 is 0.

b) The multiplication of any number and 1 is the same number.

c¢) If multiplicand and multiplier replaces each other then multiplication will not change.
d) A number to be multiplied by another is called as multiplicand.

o o (2

kT IR 6 e 318, o 7 Wiend T Tehdll ST 3T8d?

a) 13 b) 42 c) 45 d) 63

There are 6 bottles in one box, how many total bottles will be there in 7 boxes?

a) 13 b) 42 c) 45 d) 63

50 syt 10 Twai=ar | Fier 3.

a)5 b) 50 c) 70 d) 20
In 50 rupees thereare _ notes of Rs. 10.

a)5 b) 50 c) 70 d) 20
lam 30 ™A = ........... .

a) 75 b) 90 c) 85 d) 100
IHr30Min=___ Min.

a) 75 b) 90 c) 85 d) 100
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32.

33.

34.

35.

QA AT Fehrl SIS g3 3Ties. :

a) frepior b) M ¢) TIB

Find the wrong pair. :

a) Triangle b) Rectangle c) Circle

SISTRIGT STThdTal SRR TATIT e

a) vk b) e DESIIG]
Which is the shape of following?

a) Cone b) Circle c) Can

a @T < s o s O 9
HiRdlH AY[d enliden Hlg~dldl shHlen [enddl!

a) 8 b) 7 c)9

Which is the month of 'Kartik' in Marathi calendar year?

a) 8 b) 7 c)9

(a) C - C
QA TG 2T 7 SHOTRT 9h1E 33T
a) e b) T ¢) #iet
Find odd man out.

a) Knee b) Calf c) Thigh

7

d) =s

-

d) Square

d) gfeeepifert

d) Pentagon

d) 6

d) 6

d) g7e

d) Wrist
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36.

37.

38.

39.

QA AT Tehrd Toem ST

a) T AOTETET I ARGl 3. b) HroTg=ET TG STETes TUTT 3T

C) IXRTEAT AEERISR TSHITR! 3G 2l d) SRTSETOT OO W .
Find out wrong sentence from the following.

a) Height of the every person in equal.

b) Colour of the every person is different.

c) As body increases, weight also increases.

d) Man looks different according to the age.

GTCATeT Ueh! SIOTC e ' AT ARIATeS Those?

a) T&tl 3T 3 b) i M 3T

¢) TS T e d) SR YA T TR
Which of the following things understood by ear.

a) Birds are flying b) Mango is sweet

c¢) Singer sings the song d) Scent Fragrance is spread

ST R © g 1 R ;2
a) e b) fa@e c) e d) qe
As Bitter Ground : bitter :: Then Chilly : ?

a) Soar b) acrid c) sweet d) astringent

WIoleTdehl 39T feshauar=l fshar shiordr Amer?
a) WRay b) ureRaot ¢) gaeE gAd @igant - d) d@ut

Which of the following is not a processing food?

a) To soar b) To boil

c) Preserved in sealed tiffin d) fry
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40.

4].

42.

43.

44.

QAT TR arg faer sfiea.
a) ¥ UTUATes I Biard b) TTUIT=AT HiEdTd BT el
¢) U1t Iha3 TUs 1 d) fafedstaes wue g9 T2

Find out correct statement.

a) Ailments occurred due to filtration of water
b) Put the fingers in a water pot
c¢) Don't drink boiled water

d) Don't wash clothes nearby the well

ETeTIeTUehl ShIvTH SheYT=T 31?7
a) g b) R ¢) SR d) #e=nt
Which of the following is pulse?

a) Wheat b) Jowar c) Bajra d) Moth-beans
ATAUTT=AT HIUTT Te STICTEAT ---------- et ST et & ST

a) o b) fueat C) BT d) fezar

Cross the road when you see coloured signal with the picture of walking man.
a) Red b) Yellow c) Black d) Green

LM% AT T&ITAT {01 SS[H ATerd.

a) 35T b) sr=n C) AT d) @rer=An
Which side is to be used while walking?

a) Right b) Left c) Towards vehicle d) Down

ShHIUTHT BT ShiciTel B 316 ?
a) STeT b) TR c) ZIet d) s
In which types of houses there are tegular roof?

a) Bungalow b) House c) Hut d) Tegular
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45.

46.

47.

48.

49.

50.

ivd’ér\l 3 STIAT UMY J SRTA] SR alcdxd 3Y AT JUT=AT TS HIISTE TRTEAT ---- Vldld.

d) e

d) Bungalow

a) ghger b) &g ¢) TN TAR

What we call to a house being made by rope and can be easily shifted?
a) Hut b) Tent c) Huge building

ST B BT, o B 3T ST

a) =T b) =ige C) TS

Where we live, the house should be

a) Dirty b) Humid c¢) Unclean

ETCATeTIeh! ST HOT SHIOTT?
a) rTaeEy b) T R ¢) USRI fo
Which of the following is a National Festival?

a) Nagpanchami b) Ramjan Eid c) Republic Day

QTATCTIR! SHIOTCAT FOTTAT UTOT ol TG e goiT shoft STt ?
a) SeTaTeaT b) TETEaT c) TEA

Which festival is celebrated by giving Prasad to Animal?
a) Bailpola b) Gudhipadwa c) Dasra

fedTeodTd iU hUS STuRTed?
a) TR b) Yo ©) gt
Which kind of clothes should be used in winter?

a) Woolen b) Silky c) Cotton

el SIS FHIVTAT TAHATAT YT et ?
a) Y b) =R c) 3iarel
Cotton clothes are made from which plant?

a) Cotton b) Silk c¢) Flax

d) gareir

d) Airy

d) wehY Fehic

d) Makar Sankranta

d) 3t wiforE

d) Narali Pornima

d) e

d) Colourful

d) sreEER

d) Katesavar
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51.

52.

53.

54.

55.

56.

"Il AT UTOATATG 0T IS TR &t ?'
a) eie b) Tt c) TR
Which clothe is made from 'Sheep'?

a) Silk b) Cotton c) Wool
HTHTEAT BRTCAT --------- RO
a) IeD b) AR C) AR

The house of maternal uncle is called

a) Ajol b) Sasar c) Maher

STETr 3172 HIT 3T Shiv] SITd?
a) 99q b) s ¢) Hreelt
Who will be the dad's mother to my mother?

a) Mother-in-law  b) Paternal Aunt  ¢) Maternal Aunt

STEaIeTd hivTeT YT foeis U aidi?
a) g b) @rem C) =Sl
Which 1s animal 1s used in desert?

a) Elephant b) Wolf c) Horse

1Sl hid &dl?
a) et b) fErR@EmT ¢) aaeT
Where do horse live?

a) Cave b) Ambarkhana c) Stable

SIEUTTITE! ShI0TeT STETe U STRaTd ?
a) e b) fuges C) Bl
Which leaves are used while eating food?

a) Mango b) Peepal Tree c) Banana

d) T

d) Naylon

d) arerer

d) Mamewadi

d) =hrept

d) Aunty

d) Camel

d) e

d) Cow Shed

d) STivges

d) Jamun
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57.

58.

59.

60.

61.

ETeAIeTUehl ShIUTHT Hes WISl 31187
a) o b) Ay ¢) 31 ORIGED
Which of the following is fruit vegetable?

a) Brinjal b) Fenugreek c) Shepu d) Spinach

TGS WAIT 3TIE, TFe! ShIvTeT faehoil STer?
a) &Ik b) areATe™ c) 3T d) =R
You want to play slider where will you go?

a) bank b) library c) garden d) market

QA AT A e 3.
) T9.3. [oHMTeseR e b) TR STHTERIETE! §8 S3RIT ST,

¢) ST TedTaR S U drerard. d) ot Weavarare! fheiomer ST

Choose the correct sentence from the following.

a) S.T. stops at Airport.

b) People go to milk dairy for purchasing medicines.
c) Pick out the leaves of trees when you go to garden.

d) Boy goes to ground for playing.

TRUE Teeh Ge¥T Tig=eae 378, T -------- =7 3TN B,

a) feTwiA b) zuret c) o d) gau=

If you want to send quick message than telegram, 1s used.

a) Telephone b) Post Office c) Letter d) Newspaper
e feem et aTrRa?

a) IR b) =g c) 9rd d) wer

How many basic directions are there?

a) Four b) Five c) Seven d) Six
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62.

63.

64.

65.

ST TG ShivTean 31 i ferie 3me?
a) 3T - qe=y b) gfy=w - 3T ¢) 9o - IR d) gferor - 3
North East direction is in between

a) North-West b) West-South c) East-North d) South-North

Qe YA ehreaT STIereT U .
a) ITATeT SISl e - AR b) e T - FERET

o (@ + O O o
C) YIS F&ddl - Gehlcd d) TRl TRt - §aR

Find out the wrong pair of following sentences.

a) Shadow near legs - Afternoon b) Fast sleep - at midnight

c) Parijat blows - in the morning d) Sound of Raatkide - Afternoon
A ==mmmmmv HEHTER G-

a) T b) Tere C) HeATHI! d) werTest

Boys play on ground in the

a) night b) early morning  c) evening d) morning

QTCACTUh! SHIOT T "aTerTeaT AT TRl Feiterd er?

a) Hlddlcod(d Yl Yedl

b) UTeHTeATd 8ol SHE o 3TeTHl 379

C) QelTeodTd 3ATIUT T[T F AR dTIdl

d) S, STed, ST & HEaR & UeiTeodT™ B Hiew SATec.

Which of the following sentence is not co-related with 'Rainy Season'?
a) Rain falls during rainy season.

b) During rainy season the climate is humid.

c) We use sweater and muffler.

d) June, July, August and September are the four months of rainy season.
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66.

67.

68.

69.

70.

71.

a) MEfEhy b) grErTSit C) SR TRl
We eat during winter.

a) Ice Cream b) Pav Bhaji c) Bajra Roti
TR TSR < fiTeh Howdt Shivrdt?

a) 37Sl 9 7Y b) di C) TR

Which of the following natural asset we get from the birds?

a) Eggs and flesh  b) Salt c) Rubber

TeAeTIeh! ShIUTAT ST S THEI! T Hiesdet! ST ?

b) et =@t
Which of the following is called as herbs?

a) 9% c) 3T

a) Banyan b) Green leaves tea c¢) mango
QTeAeTdeh! ATa T SOt Shiordi?

a) WX b) «pe c) Te@st
Which of the following is manmade asset?

a) sweater b) wood c) iron
QA UATdre J17 STrel shioTet?

a) AHE - AH b) =g - ST ¢) TS - 9

Which of the following pair is right?

a) wood-butter milk b) cotton-jam c) stone-bitter

QeATe TATIdIeT Jehlea STEre e 9.

a) g - U b) @TFE - T C) ATl - 2y
Which of the following pair is wrong?
a) wheat-bread b) wood-table c) mud-tyre

d) =it et

d) None of these

d) e

d) Grass

d) TemTeR

d) gulmohar

d) =t

d) soil

d) 3 - emEfeRy

d) milk-ice cream

d) #re - WX

d) wool-sweater
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72.

73.

74.

75.

76.

77.

o * (2 a o
SHTUATAT STIHA AT UMY <hO7d[ Tt Head !

a) gg b) =g c) @St

What is the asset we get from land?
b) Paper

a) Honey ¢) Iron Mineral

" ATEdl € AU IO dob 3T 7

a) T8I b) Wik ¢) §IR

At what time the sun set appear?

a) Early morning  b) Evening c) Afternoon

GTeITeTdh! ShIUTAT AT [EalledTd Ud A=l?
a) AR b) feder c) HI

Which of the following month does not come in winter?

a) November b) December ¢) March
G vt &R gra?

a) TreToT b) & ¢) ufv=y
In which direction the sun rises?

a) South b) East c) West

TS Al e 3H Ufeet i ARSI 9T hivrdt?

a) gdl b) ufs=m C) ZreToT
If our face 1s towards East which direction 1s behind?
a) East b) West ¢) South

d) i

d) Salt

d) ¥ wag SR

d) All of these

d) STHemry

d) January

d) 3™

d) North

d) 3™

d) North

HE ST STaT Hig4la Yol HANdld. WA Hor?' 7@ Rlsgen|SdH sTxX Hleodl.

b) T C) AR

a) dr

d) sqHET

'All the news all over the word are printed on me.' Who I am? Find the answer

a) Telegram b) Television c) Telephone

d) Newspaper
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78.

79.

80.

81.

AT T USRIt e el SIoTet?

a) STSTAT il TS

DEISERIERIEEI

C) SIS XIST TOT T & ST Ushal W &Td
d) sFedieR ot 3T weaR.

Which is the proper action to take care of the plants?

a) Cut the branches of the trees.
b) Cut the leaves of the trees.
c) Water the plant daily and give manure once a week.

d) Spray poisonous pesticides on the plant.

3112t STEA HUATHTS! ShIVTeT WU YT &fett?

a) Ted b) shicar c) @

Which of the following animal used to load heavy luggage?
a) Donkey b) Wolf c) Lion

THAT ateeTdl SRIoT e ST ANT?

a) ARl b) e ¢) HIHr

Who is your father's sister?

a) Paternal Aunt b) Maternal Aunt

c) Maternal Uncles wife d) Sister in law

a) T b) =repre ¢) e
If chilly is eaten there is burning sensation in

a) ear b) nose Cc) tongue

d) et

d) Stag

d) Fuig

d) =

d) head
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82.

83.

84.

85.

86.

87.

QTATCTIh! SHIOT =7 ATl ?

a) 3fee b) e C) @RE d) |reR
Which of the following is not a taste?

a) Soar b) Sweet c) Salty d) Sugar

GTeAToTUShl SHIOTT IR 9T 3R ?

a) Ayer b) T C) IR d) @ieT
Which of the following is a part of the leg?
a) thigh b) wrist c) elbow d) shoulder

QAT TeTdTel TG I16 ST
) 3t b) ferof ¢) TeF d) 53

Which of the following is a natural word?

a) ox b) sparrow c) he-goat d) sheep
TEATEY AT FOTAT ---------- 3THE! T
a) == T b) e o ¢) g o d) et TiforT

'TSU' AT WS IAC 3T T SHivTeT?
a) Weaut b) i@t g IRSE d) g=ot

QAT TR RehTHIT ST ShivTl 9168 Telfeead diel 9165 3Tqu] giciet?

odd a) TR b) a”
B > ¢) WR d) =ent T
GEg
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88.

89.

90.

91.

92.

93.

94.

QeATel ot et 37ef oo qaTic IeT. ShivTcTel e Siaieh &1 THaehReE 3.
a) 31T YRTuT = oot Fehr b) 31fq 9 AT
¢) Uehrel ST hiTel AT d) Twe a7re fdhs faER

QTATCTIR! SHIUSe o Tt STl ShivTl STel gehrar 377
a) H-h b) A-a c) N-m d) R-r
Which of the following capital and small letter's pair is incorrect?

a) H-h b) A-a c) N-m d) R-r

Fill in the blanks with considering the sequence of the alphabets.

a)o b)b c)cC d) k

Find out a word from the following with different sound for it.

a) Pen b) Hat c) Hen d) Ten

(2} o a < o
RISTRTeT ™Al RIsg™ QUIH UK Qi Rlsy [ el.

See the following picture and find the suitable word.

" a) hot b) cold

c) hard d) sour

GIRT AT STAFATRIAT A '.-Z;‘/l\"lﬁl NEH SIS e ST

a) Shalder b) Solder c) Shoulder d) Sholder

3747 feretoie = fendt 3 2

a) 200 b) 50 c) 500 d) 300
Half kg = gm?
a) 200 b) 50 c) 500 d) 300
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95.

96.

97.

98.

99.

3 Hiex = foral) dfediex?

a) 30 b) 3 c) 300 d) 200
3mtr=.......... cm?
a) 30 b) 3 c) 300 d) 200

S 5 o 199 o Yoot 2 S0 JET0T 3 UfRaet e, AR ST SERHIRIAT fohdl YaehT arelt?
a) 6 T b) 11 v9z c) 13 vqa d) 10 T
John purchase one pen of Rs. 5 and three pencils of Rs. 2 each, how much he has to

pay to the shopkeeper?
a)Rs. 6 b) Rs. 11 c)Rs. 13 d) Rs. 10

Gl TedTedTd Tohdl aTsTer AT YT ShHieh I

a) 9rd b) 2113

_ C) T d) Ter
What time does the clock show?

a) seven b) eight c) twelve d) six

(2} (e a (AW aN a f\r)
Gictletdenl enlUldl Hiendl [AenlUIHl Alel!

Which of the following figure is not a triangle?
) ; b) k 0 Q )

ST STeRHTHT SSTahe STeRTd 3TeT ThITTet 3T ?

Which is the 11" letter of English alphabets from right side?
a) O b) K c)N d)P
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100.

101.

102.

103.

104.

(7,8,3,4,5,8,7,2,3,8,7,5, 8,4) a1 3/HTcIohd ShIUTAT 37eh Walld STRA SAe3T ST’

a) 8 b) 7 c)3 d)5
(7,8,3,4,5,8,7,2,3,8, 7,5, 8 4 ) which number in this number series repeated
more than the others?

a) 8 b) 7 c)3 d)5

G T97d 7T 7 SHUIR U 3734l
a) a7 b) TEHTES ¢) TS d) faches
Find the odd man out.

a) Mango b) Apple c) Water melon d) Custard apple

GTeAleT T3 TTeTd - SHUIR U 3734
Find the odd man out.

a) 18 b) 16 c) 14 d) 15

QAT Wil To-Tag e ST SHHT JOTIRY T 9veT.

Complete the number series by using appropriate options.
18,15,12,7,6

a) 9 b) 13 c) 10 d) 8

QAT g HIoTehd WeATa-aTeaT ST ShHT AUIRT FergrTTeTen!/famg i .

In the following series of symbol which alternative will replace the question mark?
*, **D, ***D,D ‘)
a) e[ 0 b) #** 00 ¢) IO d) sk [][]
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105. wretier Hifctehdiel gepid U% 31iesEH T YT shHieh STk hl.

31T, U, TS, Tl, s, U6

a) R b) 3 ¢) TR d) it
Find out the wrong word from the alternatives.

Mango, Jackfruit, Marigold, Orange, Apple, Guava

a) Jackfruit b) Marigold c) Apple d) Mango

106. forgTe =weeh 3.
Find out the odd man out.
3,6,12, 17,15
a)3 b) 17 c) 12 d) 6

107. wrgen fed! T 3718, S [Solsiue e 316, T Fard 1 qa1e Hivrdr?
a) 9k b) =g
c) fterstt d) fSterstt o &g
Laddo is sweeter than Jalebi, Barfi is sweeter than Jalebi, then which of the
following items is the sweetest?
a) Barfi b) Laddo
c) Jalebi d) Jalebi & Ladoo

108. fgaeh Sha-det g 3TE, ST geR3R, AR [aashuel geR 3T1E, X Wald geR hior?
a) ST b) s c) fae® d) ¥R
Vivek is dull than ketan, Jatin is clever, Sagar is cleverer than Vivek, then who is the
cleverest?

a) Jatin b) Ketan c) Vivek d) Sagar
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109.

110.

111.

112.

OTE MUl EIEUATeAT YA gxireaT AR o UeAd gidl, TRl e =T U i, gt ST

T AT 3 Yoodl &I, TR HAT Y& T Yoael BIclT?

a) 3¢ b) @& c) =eT d) =me

In the running race of five animals tiger is behind an elephant, horse is running ahead
of rabbit, camel is running between elephant and rabbit, then who is running ahead of
all?

a) Camel b) Rabbit c) Horse d) Tiger

AT T Teeel, TMETell S Teeet, SEel 3RS Ted, SIRee Siideier e, Jiaeiere

TEHeR TE2el, X WG hivTeal Hig-aTd Tset?

a) S b) fegsr C) 3L d) sl

If we call April as March, Juen as April, August as June, October as August and
December as October, then in which month Independence day will come?

a) June b) December c) August d) October

QTelteT TP-ITSTe 7 SHUTRY 3TTehalt I,
Find odd man out.

_) \
1) 2)

)

P
— —>

3) LT | 4)

a) 1 b) 2 c) 3 d) 4

Qe T TRTa-a e ST JUTRY STTehell STeT.

Find out suitable figure at place of question mark.

gio][olf
o © 2>© s) 4)

a) 1 b) 2 c) 3 d) 4
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113.

114.

115.

116.

117.

QTeAteT TP URATe-aTeT STAT TR 3TTehelt ST,

Find out suitable figure at place of question mark.

A ’ ] ] ?
A A )

)[4 2) LIl 3) 4)

a) 1 b) 2 c)3 d) 4

QAT TR IToaTiet Aidiee Hd [SHe, o IR SR el
Find the water image for the question figure from the answer figures.

A [fod] |4 Y] |4

rarzrzermrnrnn. 1) 2) 3) 4)
2) 1 b) 2 0)3 d) 4

QAT TRl STRYTCeT AT el fTHet, o ITR STFeaime STl
Find the mirror image for the question figure from the answer figures.

En =N | )=~ | 9) 4)
a) 1 b)2 c)3 d) 4

THYT TRITUE A fSai=t Hiel 37, HeI=n ST IR STell 3THe, X THITET ST ShioTe ar]
T e’

a) HTBaR b) |rmERt ¢) aart d) Feemt

Ramesh is elder than Mahesh by three days. Mahesh was born on Friday then on
which day Ramesh was born?

a) Tuesday b) Monday c¢) Sunday d) Wednesday

Qe T FRSTISRaeN ddidd STAUTRT TSRl GTic .
Out of the given group of figures find out an exact similar figure to the given
question figure.

1) a:§}3)6§4)

a) 1 b)2 ¢)3 d) 4
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118.

119.

120.

121.

122.

o o a

TR SR 13 qehe SHuardndt fofett fohelt drest shraTat emtet?

How many times a rope should be cut to make 13 pieces?

a) 13 b) 11 c) 12 d) 10

o (AW a

[ohdl TS 3THTd?

T N
How many days are there in a year?

a) 368 b) 360 ¢) 365 d) 362

TEATE T T SBUTR Ug ST

34, T, TTof, ?

a) §rER b) e c) Tt d) e
Choose the word to complete the series.

Milk, Oil, Water, ?

a) Sugar b) Stone c) soil d) kerosene

TehT Wichd e T80 ‘=R &1 91s5 | + - X ' 37 feAfedd, X ‘e’ &1 9155 Sl fettedT Jget?

a)+x- b) x + - c)-+x d)yx-+

ST §H=a1 T 10 %, JreTell |aee, O qr! hid el

a) T A 32 b) ariTyTeTeRishs = <o RawTd e
C) TR TS S d) I JETEATIRIhS T

If you got Rs. 10 of your friend, what will you do?

a) Distribute to friends

b) Put in your pocket without giving to your teacher
c) Will take at home

d) Will give it to Head Master.
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123, 'Se SHOOTRT AT ST EHeTsEel JUIRT I 315 AT ST
a) fog™ b) R C) 3D d) reeist

124, TERTSI SUHEAH hivT 37187
a) BT STeles b) g g ) 37d TR d) Trter 2
Who is the Dy. Chief Minister of Maharashtra?

a) Chagan Bhujbal b) Pruthviraj Chavan
c) Ajit Pawar d) Rajesh Tope
125.  3mqet I ol fefger?
a) HgHT ShHaTA b) Terg=er 2Mm C) ardeE d) SRS FBw
Who wrote our national anthem?
a) Mohammad Iquabl b) Rabindranath Tagore
c) Bhagatsingh d) Jawaharlal Nehru

126. HERTSTE TSTEHT HIoTdT?
a) gag b) e c) qut d) T
Which is the capital of Maharashtra?
a) Mumbai b) Nasik c) Pune d) Goa

127. ORar ulge! YAwe ShioT &fd?
a) TER TeAHTE U b) dled 8w C) 3 d) ereaT Fet

Who was the first Prime Minister of India?

a) Sardar Vallabhbhai Patel b) Pt. Nehru
c) Ambedkar d) Mahatma Fule
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128.

129.

130.

131.

132.

a) s b) FHATHR C) STETHR

M.F. Husain is a famous

a) Painter b) Artist c¢) Cartoonist

‘H%IUI{IFOI(N& STETeT U= 0¢|C>R‘|(\I'G| 1 I’

a) IRE TER b) dt.at. e C) JEHTaH T
What is the name of the person fighting against corruption?
a) Sharad Pawar b) P.B. Sawant
c¢) Purushottam Khedekar d) Anna Hajare

RATAT Ufee! GIGT 5 hic 3T 7

a) a5 b) fewett c) qut

Where is the first Durdarshan Centre of India?

a) Mumbai b) Delhi c) Pune
Sy Tshohe T g3 fehdlt o=t eicl?
a) I g b) TR TS C) T ST

After how many years world cup cricket matches are held?

a) 2 years b) 4 years c) 5 years

GTeAtoT TETAteT STTeaT I8 3TieaT.
a) T b) segaT ¢) HERT
Find odd man out.

a) Ganga b) Bramhaputra c) Kaveri

d) st

d) Actor

d) srouT g R

d) AR

d) Nagpur

d) = =T

d) 3 years

d) fest merarR

d) Hindi Mahasagar
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133.

134.

135.

136.

137.

138.

11 g oy — ST AT X TR AT = STl i 91e8 91

a) Trerdt b) si=men ¢) fer=rean d) fezen

JATTEAT <27 HITT S9N T SeAT?
a) 16 e b) 26 STHaRI ¢) 15 3 d1g
On which day our country became independent?

a) 16 August b) 26 January c) 15 August d) 1 May

FRIS! AG-ATIHTOT ShivTeT Hig=ATaT & =] 817
a) AT b) == C) et d) =remE
From which of the following Marathi month Marathi calendar starts?

a) Margashish b) Chaitra c¢) Shravan d) Vaishakh

HTSHUTIA Helld ST &1 3Tauere 379’

a) Aiges b) & OIS d) 7
Which of the following food item is mostly used in Kokan?

a) Rice b) Wheat c) Bajra d) Mung
-------- B Testa T 3T
a) % b) T@a c) STt d) aiem

is a king of fruits?

a) Guava b) Pomegranate c) Grapes d) Mango

THAT SfSeTeT ATt 311 o Hior?
a) FTF b) st ¢) 3T d) amg
What is your relation with the mother of your father's brother?

a) Aunty b) Grandmother c) Aunt d) Mother
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139. YR ARG FaTe) fohdl o Yot SeATeR AAgHTET STHHR 3T ?
a) 16 a9 b) 21 a¥ c) 18 & d) 20 =
What is the minimum age required to vote for Indian citizen?

a) 16 years b) 21 years c) 18 years d) 20 years

140. 1765 BT ShivTear goT=n 9 31e?

a) g b) e c) fawaa d) et el
'Christmas' belongs to religion.
a) Hindus b) Muslims c) Christians d) none of these

141. TomaEmst TR ST IS ........
a) T b) fere= it C) TS d) ere
1s the birth place of Shivaji Mahara;.
a) Sindhudurga b) Shivneri c) Raigad d) Sinhagad

142. Which of the following is an adjective.

a) decision b) decode c) decorative d) decently

143. Choose the correct article to fill in the blank.
I have NCC 'A' certificate.

a)a b) an c) the d) none of these

144. Guess the meaning of the following idioms from the options.
To keep at a distance -
a) To place something far away b) To stay miles away from

c) To refuse to be friendly with d) To continue to run in a contest
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145.

146.

147.

148.

149.

150.

Find the proper feminine noun from the options.
Horse

a) Queen b) Woman c) Madam d) Mare

Choose the singular from the following.

a) trousers b) spectacles C) news d) witnesses

Select the correct sentence asking for permission.

a) May I come 1n, sir? b) Shut the door.

c¢) Thank You! d) Will you help me, please?
31| e =1 5 s | o e

a) el b) SrewhiAT C) TR d) sigredt

The shape of our earth is

a) Circular b) Hexagonal c) Square d) Oval

qIUAT T STHAIER g ITRUTRT WU ShioTe?
a) 4TH b) ArHE ¢) | d) &t
Which of the following animal can live in water as well as on the earth?

a) Frog b) Monkey c) Man d) Elephant

QTATCTIR! ShIOT T ATy 31 ?
a) S b) Fet c) Torm d) uretr
Which one of the following is musical instrument?

a) Fountain b) Flowers c) Piano d) Slate
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